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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 600964151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Unit for the solid angle is

1. Degree
2. Radian
3. meter?
4, Steradian

Options :

600964601. 1
600964602. 2
600964603. 3
600964604. 4

Question Number : 1 Question Id : 600964151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T HIV (solid angle) I AP &

1, 319 (24

2.31STA

3, HleR?

4, & su
Options :
600964601. 1
600964602. 2

600964603. 3
600964604. 4

Question Number : 2 Question Id : 600964152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Dimension of strain is

1. [mor27?]
2. [M°L°1]
3. [MOL'T]
4 [MoL'TY)
Options :
600964605. 1
600964606. 2

600964607. 3
600964608. 4

Question Number : 2 Question Id : 600964152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

fagpfa 1 fowTd &

1. [mor2r9)
2. [MO1°TY]
3. [MOL'TY)
4, [Mﬂl-lTﬁ]
Options :
600964605. 1
600964606. 2

600964607. 3
600964608. 4

Question Number : 3 Question Id : 600964153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The position of an object moving along x axis is given by x =q + bt> Where g =10m, b=2m s
and t is in second. The velocity at ¢ = 3,0 s IS

1.12ms
2.20ms!
3.36ms

4.46ms

Options :
600964609. 1
600964610. 2
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600964611. 3
600964612. 4

Question Number : 3 Question Id : 600964153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

x—ﬁ&i-fﬁ-ﬂﬂ AR anaﬁﬁﬁﬂsaﬁf&rﬁ[sﬂwwﬁwa
x=a+bt
Tela=10mb=2ms 2 Nt UFISHGI ¢ =305 RAE

1.12ms”
2.20ms”
3.36ms

4.46ms’

Options :

600964609. 1
600964610. 2
600964611. 3
600964612. 4

Question Number : 4 Question Id : 600964154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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An insect trapped in a circular groove of radius 10 cm moves along the groove steadily and

completes 14 revolutions in 100 5. The anqular speed of the insect is (take x = %}

1.022rads™
2.044 rad s
3.088rad s
4.176rads™

Options :

600964613. 1
600964614. 2
600964615. 3
600964616. 4

Question Number : 4 Question Id : 600964154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
10 cm P50 & TTOR Wid § 1 D13 DIl T & SFICT R Y T $Xd §T 100 YU ¥ 14
B R B ¢ 8 Bl I BIvfia A ¢ (r = 2oy

1,022 rad 5™

2.044rad s
3.088rads™

4.176rads™

Options :
600964613. 1
600964614. 2

600964615. 3
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600964616. 4

Question Number : 5 Question Id : 600964155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A batsman takes first run by moving from A to 8 and then goes for second run. When he reaches 20
m from B to D (see figure), he was run out. The net displacement of the batsman is

1.2m
2.20m
3.22m
4,42 m

Options :

600964617. 1
600964618. 2
600964619. 3
600964620. 4

Question Number : 5 Question Id : 600964155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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B3 FeClaTd A ¥ B TP GISH gl T aidl ¢ A MU GOk ¥ & fefU 31sal ¢ | 9 g 8 D 20 m
ol TR Ugddl 6, dl T 3¢ gl oldl ¢ (3N SRAY) | 39 Sewia ol ¢ [qRiI §

1.2m
2.20m
3.22m

4,42 m

Options :

600964617. 1
600964618. 2
600964619. 3
600964620. 4

2

m

' a

L 2

-

«——20m

Question Number : 6 Question Id : 600964156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A mass of 6 kg is suspended by a rope of negligible mass, and length 2 m from the ceiling. A force
of 60 N in the horizontal direction is applied at the mid-point P of the rope (see figure). The angle
the rope makes with the vertical in equilibrium is (take g = 10 m )

=
w
[ 16k
1.15°
2.30°
3. 45°
4,60°
Options :

600964621. 1
600964622. 2
600964623. 3
600964624. 4

Question Number : 6 Question Id : 600964156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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6 kg %O 1 P [0S JU&0T Gom 3R 2 m vl fardll SN GR1 3 8 Feifa g1 g8 skl &
A o P TR 8Tt 1o 60 N 1 I e QIR 741 & (3N GRA) | FrvaaRyl ¥ SR GRT HlR
AP E (g = 10m 572 oY

1.15°
2.30°
3. 45°

4.60°

Options :

600964621. 1
600964622. 2
600964623. 3
600964624. 4

Question Number : 7 Question Id : 600964157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A bullet of mass 10 g is fired with a speed of 400 m s on a soft plywood of thickness 4 cm. The
bullet emerges with 25% of its initial kinetic energy. The emergent speed of the bullet is

1.300ms™
2.200ms™
3.100ms™
4.50ms™

Options :

600964625. 1
600964626. 2
600964627. 3
600964628. 4

Question Number : 7 Question Id : 600964157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

10 g SO0 O {dr ! Tiel! D1 400 m s~ D1 A1 G 4 cm HIETS @1 [l HIFQ @RS W G Tl g
g et ST+ TRIRG 7T il b 25% & 39 W58 & dTe Mdadl ¢ | el & G1gR e 1 a1
:

1.300ms™
2.200ms’
3.100ms™
4.50ms™

Options :
600964625. 1
600964626. 2
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600964627. 3
600964628. 4

Question Number : 8 Question Id : 600964158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The torque about the origin due to a force F = 7i N acting on a particle whose position vector is r =
5i m will be

1.355Nm

2.35k N m
3.(35) - 35k) N'm
4. Zero

Options :

600964629. 1
600964630. 2
600964631. 3
600964632. 4

Question Number : 8 Question Id : 600964158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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foraft v forrant fRUfQ e v = 5im @ W reRa ol & F = 70 N 1 73 foeg, & ORt: &t o
Gl

1.35N'm
2.35kN'm

3. (35) = 35k) N m
4,3

Options :

600964629. 1
600964630. 2
600964631. 3
600964632. 4

Question Number : 9 Question Id : 600964159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The angular speed of a wheel is increased from 1200 rpm to 2400 rpm in 10 s. Assuming
acceleration to be uniform, the angular acceleration is

1.4mrads™
2. 2mrad s
3. 4rad s
4.2rad s
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Options :
600964633. 1
600964634. 2
600964635. 3
600964636. 4

Question Number : 9 Question Id : 600964159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fopeft UfgU 1 ivlta A 10 s 7 1200 rpm T TEbR 2400 rpm g1 Wl 1 R Pl WHEAM AT U
IO @R g

1.4mrad s
2. 2mrad s
3, 4rad s

4.2 rad s
Options :
600964633. 1
600964634. 2
600964635. 3
600964636. 4

Question Number : 10 Question Id : 600964160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For a planet revolving around the sun in a stable orbit, the relation between kinetic energy K and
potential energy U is

LK=U
2Kk=U/2
3 K=-=1
4K=-U)2
Options :
600964637. 1
600964638. 2

600964639. 3
600964640. 4

Question Number : 10 Question Id : 600964160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e e X ot U vt el 7 o i oot K <R Rt oot U S e W

LK=U
2K=U/2
3Kk=-1U
dxk=-U/)2
Options :

600964637. 1
600964638. 2
600964639. 3
600964640. 4
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Question Number : 11 Question Id : 600964161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A material like rubber which can be stretched to cause large strain is called,

1. Highly elastic
2. Ductile
3. Plastic

4. Elastomers
Options :
600964641. 1
600964642, 2
600964643. 3
600964644 4

Question Number : 11 Question Id : 600964161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

35 o e for 95 [l e e d g el off el 6, g 6

1. 31 Wy

20
3, [ |
4, TIRYAS ZARCH)

Options :

600964641. 1
600964642. 2
600964643. 3
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600964644. 4

Question Number : 12 Question Id : 600964162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For a soap bubble, the difference between the inside pressure of the bubble and the outside

pressure of the bubble is given by (r is the radius of the bubble and § is the surface tension of the
soap solution)

1. 28/r
2. 45/r
3.5/r

4.5/2r

Options :

600964645. 1
600964646. 2
600964647. 3
600964648. 4

Question Number : 12 Question Id : 600964162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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fovell W1 o sl 3 fory qaiael & iR 1 dU1 9Uae B S1gR e & dld @l 3R gl ¢ (Su Bl
Fod, T ST & Fa 1 98 71, § ©)

1. 25/r
2. 45/r
3.5/r

4.5/2r

Options :

600964645. 1
600964646. 2
600964647. 3
600964648. 4

Question Number : 13 Question Id : 600964163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The shapes of the black body radiation curves depend on its

1. Mass
2. Surface area
3. Material

4. Temperature

Options :

600964649. 1
600964650. 2
600964651. 3
600964652. 4
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Question Number : 13 Question Id : 600964163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HIVET fAfR0 9 Bl SAGH HAR Bl § T

1. GOHA R

2. U8 %0 R
3 G |

4 AR

Options :

600964649. 1
600964650. 2
600964651. 3
600964652. 4

Question Number : 14 Question Id : 600964164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The molar specific heat capacity at constant volume for a rigid diatomic molecule is (R is the
universal gas constant)

—a
==

]
LA | =3=Jd] WO
= ]

L
=

Y

B3] Labsd |
=
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Options :
600964653. 1
600964654. 2
600964655. 3
600964656. 4

Question Number : 14 Question Id : 600964164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[ 3T R il € RO 310] bt HieR a1 3wt 4R gl & (R Wi 19 i o)

—=
b =
==

M2

B | Cadbsd | WAED | =1=J ]
=

L
=

A
-

Options :

600964653. 1
600964654. 2
600964655. 3
600964656. 4

Question Number : 15 Question Id : 600964165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A Carnot engine works between temperatures T; and T (T; > T;). The efficiency of the engine is

L 1-1/m,

Options :

600964657. 1
600964658. 2
600964659. 3
600964660. 4

Question Number : 15 Question Id : 600964165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Bl BHI 50 T, IR T, (T, > T,) A1 & did &1 3l o 50 59 D1 ol 6

1‘1_T1/T:

Options :
600964657. 1
600964658. 2

600964659. 3 Page - 21
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600964660. 4

Question Number : 16 Question Id : 600964166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following expression does not represent simple harmonic motion?

1.4 sin (wt)
2. B cos (wt)
3. 4 sin (wt)+ B cos (wt)
4 Ae“t +Bewt
Options :
600964661. 1
600964662. 2

600964663. 3
600964664. 4

Question Number : 16 Question Id : 600964166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

frfofad & O &19-91 oo T 1dadl d & (eid Tl Bl 7

1. Asin (wt)
2. Bcos (wt)
3.4 sin (wt)+B cos (wt)

4;4 Euf_B E—u.l!'
Options :

600964661. 1
Page - 22
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600964662. 2
600964663. 3
600964664. 4

Question Number : 17 Question Id : 600964167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When a source of sound move towards the stationary observer with a velocity , and emitting sound
of frequency v, the apparent frequency v measured by the observer will be (y is the velocity of
sound measured by observer)

Ly=vy(141,/v)
2v=vy(1-v,/v)
3v=vy(l+v/v,)
4 y= vo(1-v/v;)

Options :

600964665. 1
600964666. 2
600964667. 3
600964668. 4

Question Number : 17 Question Id : 600964167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 23
23/223



9/18/2020

o Pl - BT I [ 4T ,, W bl FRR Wefep i 3R T T § el Il v i Mg
&, a1 Ve g1 A 7t gl v G (e IR it 1 T IO T )

Tv=wy(1+ v, /v)
2. v=vy(1-1,/v)
3.y =wy(1+ v/v,)
4 v=vy(1-v/v,)

Options :

600964665. 1
600964666. 2
600964667. 3
600964668. 4

Question Number : 18 Question Id : 600964168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

On an average, a human heart is found to beat 72 times per minute. The frequency of heart beat will
be

10833
21257
3125
47257

Options :
600964669. 1
600964670. 2

600964671. 3
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600964672. 4

Question Number : 18 Question Id : 600964168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3 HId ged B! Y5 U e ¥ 72 OR Ul i ¢ 1 §ed BI YSdH &l 3af gl

1.08335
2125
31257
4725

Options :

600964669. 1
600964670. 2
600964671. 3
600964672. 4

Question Number : 19 Question Id : 600964169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The speed-time graph of a particle moving along a fixed direction is shown in the figure. The
distance traversed by the particle betweent=0stot=8sis

s 10 A
£ F i
; B / \\\
§ f’f \
w | \.1
0 4 &
ts)
1. Zero
2.20m
3.40m
4.80m
Options :

600964673. 1
600964674. 2
600964675. 3
600964676. 4

Question Number : 19 Question Id : 600964169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 26
26/223



9/18/2020

3 A o & srgfemy e fordt 1 T a1el- 9w 91 R gl t= 05 ¥t =8sdhafd

& GR1 9l T g8 ©
e | /i\
" g°
[|S)
1.3
2.20m
3.40m
4,80 m
Options :

600964673. 1
600964674. 2
600964675. 3
600964676. 4

Question Number : 20 Question Id : 600964170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 27
27/223



9/18/2020

The angle between the force F = 6i +2] and the displacement D = 2i +6j is

1.sin71(0.3)
2.sin7'(0.6)
3, ¢cos7'(0.3)
4. cos™'(0.6)
Options :
600964677. 1
600964678. 2

600964679. 3
600964680. 4

Question Number : 20 Question Id : 600964170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T, F = 61 +2) AR ORI, D = 21 +6) F A B0 3

1.5in71(0.3)
2.5in”'(0.6)
3,¢057'(0.3)
4. cos™'(0.6)
Options :
600964677. 1
600964678. 2

600964679. 3
600964680. 4

Question Number : 21 Question Id : 600964171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Page - 28
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Three masses 4 kg, 2 kg and 4 kg are placed along X-axis as shown in the figure. The coordinate of
the centre of mass will be

dkg  2kg 4kg

Options :

600964681. 1
600964682. 2
600964683. 3
600964684. 4

Question Number : 21 Question Id : 600964171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4kg, 2 kg 3R 4 kg GO B o fvg X-femm & arpfem e H Gufy 3R T8 MU E | 5 el

b5, & Fagia gi
:
H
dkg  Zkg dkg -
0 [ )
1.(1,0)
2(1,1)
3.(3,0)
43,1
Options :

600964681. 1
600964682. 2
600964683. 3
600964684. 4

Question Number : 22 Question Id : 600964172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The total energy of a satellite of mass m orbiting at a height h above the surface of the earth is given
by (M is the mass of earth, R is the radius of earth)

GmM
"~ 2(R+h)
tmM
"2R+h)
tmM

" (R+h)
GmM

(R+h)

Options :

600964685. 1
600964686. 2
600964687. 3
600964688. 4

Question Number : 22 Question Id : 600964172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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0t & UF & 1S h TR UG X SO m & (8 STG @1l il el & (G2l T e M
a1 gl 31 R @)

GmM

2(R+h)
GmM

2(R+h)
GmM

(RN
4 GmM

(R+h)

Options :

600964685. 1
600964686. 2
600964687. 3
600964688. 4

1.

2

Question Number : 23 Question Id : 600964173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The average depth of Indian Ocean is 3000 m. The pressure at the bottom of the ocean is (g = 10 m
52, density of water = 1000 kg m™)

1.3x10%%kg m's™
2.3x10"kg m's™
3.3x10% kg m's™?
4.3x10°kg m's
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Options :
600964689. 1
600964690. 2
600964691. 3
600964692. 4

Question Number : 23 Question Id : 600964173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
o< FGRITR @1 311 TTERTs 3000 m &1 HERFR &1 aell WS § (g = 10 m s, el &1 87 = 1000
kg m™>)

1.3x10%kgm™'s
2.3x10" kg m's™
3.3x10% kg m's™
4.3x10°kg m's?
Options :
600964689. 1
600964690. 2

600964691. 3
600964692. 4

Question Number : 24 Question Id : 600964174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A pan filled with hot food cools from 95° C to 85° C in 2 minutes when room temperature is 20° C.
The time taken by the food to cool from 55° C to 45° C will be

1.260s
2.280s
3.300s
4.320s

Options :

600964693. 1
600964694. 2
600964695. 3
600964696. 4

Question Number : 24 Question Id : 600964174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TH HIo 9 R D15 U 2 e # 95 °C & 85 °C 0 681 Gidl o, 8 $&-ald 20 °C 51 39 HioH & 55
°C Y 45 °C & 681 g H T el §¥ ¢

1.260s
2.280s
3.3005
4,320

Options :

600964693. 1
600964694. 2
600964695. 3
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600964696. 4

Question Number : 25 Question Id : 600964175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A flask contains argon and chlorine in the ratio 2 : 1 by mass. The temperature of the mixture is 27°
C. The ratio of the average kinetic energy per molecule of argon to that of chlorine is

1.1:1
2.1:2
3.2:1
4.1:4

Options :

600964697. 1
600964698. 2
600964699. 3
600964700. 4

Question Number : 25 Question Id : 600964175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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foreft v 7 48} 3ff IR TN & ol &7 U 2; 11 YO T AT 27 °C g1 3T 3R
AR 1 Ui 3] 3 et Srfaff 1 3T §

1.1:1
2.1:2
32:1

4.1:4

Options :

600964697. 1
600964698. 2
600964699. 3
600964700. 4

Question Number : 26 Question Id : 600964176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Light of wavelength 6000 A is coming from a star. The limit of resolution of a telescope with

objective diameter of 244 cm will be

1.2x107 rad
2.3x107 rad
3.3x10% rad
4,2x1078 rad

Options :
600964701. 1
600964702. 2

600964703. 3
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600964704. 4

Question Number : 26 Question Id : 600964176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fobelt AN 3 6000 A TNTGE T WbTS1 31 TG ¢ | [l 244 cm IR b SMEE o 1Y fabel] Geeei
B! favie & S gl

1.2x107 rad
2.3x107 rad
3.3x107% rad
4, 2x10 rad

Options :

600964701. 1
600964702. 2
600964703. 3
600964704. 4

Question Number : 27 Question Id : 600964177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Monochromatic light of frequency 6.0x10™ Hz is produced by a laser. The energy of a photon of the
light beam will be (h = 6.63x10°%) )

1.398x107)
2.398x107"7 )
3,398x107¢ )
4,3.98x107"

Options :

600964705. 1
600964706. 2
600964707. 3
600964708. 4

Question Number : 27 Question Id : 600964177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fopaft QIR GRT 6,010 Hz 3Gl T Tl obTey e faoell 77T 1 3 UIRT U & BIc &l ol
giTlt (h = 6.63x10° )

1.3.98x107)
2.398x107"7 )
3.398x107)
4,398x107")

Options :
600964705. 1
600964706. 2

600964707. 3
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600964708. 4

Question Number : 28 Question Id : 600964178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An electron, an alpha particle and a proton have same kinetic energy. Which of the following
statements is true regarding their de-Broglie wavelength?

1. N electron < A alpha < A proton
2. aloha < Aoroton < Aelectron
3. A aipha > Aoroton > Aelectron

4.\ proton > }‘alp"d * ?"':' ectron

Options :

600964709. 1
600964710. 2
600964711. 3
600964712. 4

Question Number : 28 Question Id : 600964178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 39
39/223



9/18/2020

foreth gaiaci, forel we o 3R el e @t foret ol T €1 STt & it e & W A
A T T - Y W 7

1. \(Vambda\) gzt < \(\lambda\) g < \(\lambda\) giet
2.\(\lambda\) tzr < \(\lambda\) giets < \(\lambda\) s¢ets
3.\(\lambda\) tw > \(\lambda\) gz > \(\lambda\) geieeta
4. \(\lambda\) gets > \(\lambda\) ¢z > \(\lambda\) zzets

Options :

600964709. 1
600964710. 2
600964711. 3

600964712. 4

Question Number : 29 Question Id : 600964179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The energy equivalent of 2 g of substance is (Velocity of light = 3x10°ms™)

1.18x107)
2.1.8x10™)
3.1.8x10"
4.18x10" )

Options :

600964713. 1
600964714. 2
600964715. 3

600964716. 4
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Question Number : 29 Question Id : 600964179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

2 g U& @1 il qid & (HobT%] 1 Tl = 3x108 ms™)

1.1.8x10°)
2.1.8x10™ )
3,1.8x10" |
4,1.8x10"7 )
Options :
600964713. 1
600964714. 2

600964715. 3
600964716. 4

Question Number : 30 Question Id : 600964180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
To make 'n’ type semiconductor, the doping element will be

1. Boron

2. Phosphorous
3. Aluminium
4, Gallium

Options :
600964717. 1

600964718. 2
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600964719. 3
600964720. 4

Question Number : 30 Question Id : 600964180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
‘' BR P A4S T & (0 716 (TR 7 g

1.9RMA
). IBIRY

3, Uity
4, TMferqy

Options :

600964717. 1
600964718. 2
600964719. 3
600964720. 4

Question Number : 31 Question Id : 600964181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The following truth table represents

el BE N = =T -
- | O | — | & | D
— | s | | S | -

1. AND gate
2.OR gate
3. NOR gate

4. NAND gate

Options :

600964721. 1
600964722. 2
600964723. 3
600964724. 4

Question Number : 31 Question Id : 600964181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Al & et s Rl freT e §

A B Y
0 0 0
0 1 1
1 0 1
1 1 1

1. AND TIc @I

2. ORI &l

3. NOR 7€ @1

4, NAND e &1

Options :

600964721. 1
600964722. 2
600964723. 3
600964724. 4

Question Number : 32 Question Id : 600964182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The scientist who first developed an apparatus for generating ultra-short electromagnetic waves is

1. S.N. Bose

2. A Hertz
3.).C. Bose
4. ). Maxwell

Options :

600964725. 1
600964726. 2
600964727. 3
600964728. 4

Question Number : 32 Question Id : 600964182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TR1-YeA AQgradIg bl I X 1 U (I S a1el Yo aqiTa §

1, T8, 0, 919

2050
3.9, 4 iy
4,9, AFgdd

Options :

600964725. 1
600964726. 2
600964727. 3
600964728. 4

Question Number : 33 Question Id : 600964183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is QF1>1esti0111r 5
age -
45/223



9/18/2020
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Advance sunrise at a place on the surface of the earth is due to

1. Diffraction of light

2. Total internal refraction of light
3. Rotation of Earth

4. Atmospheric refraction of light

Options :

600964729. 1
600964730. 2
600964731. 3
600964732. 4

Question Number : 33 Question Id : 600964183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

7t & U W e @ W i qlem rar g

1. bS] 1 faacH
2. W11 1 T0f IR WTdci
3, 5] 1 i i
4, b1 1 AHUSH Sfudc

Options :

600964729. 1
600964730. 2
600964731. 3

600964732. 4
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Question Number : 34 Question Id : 600964184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In Young's double slit experiment, the slit separation is 2 mm and the screen distance is 1.0 m. If the
wavelength of light is 600 nm, fringe separation will be

1.0.3 mm
2.3.0 mm
3. 0.6 mm
4.6.0 mm

Options :

600964733. 1
600964734. 2
600964735. 3
600964736. 4

Question Number : 34 Question Id : 600964184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
411 & faferd] v, fR-0ue 2 mm GUTGE 31 331 1.0 m g1 TS THRI F1 76 600 nm g,
fThol gy i

1.0.3 mm
2.3.0 mm
3,06 mm

4, 6.0 mm

Options :
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600964733. 1
600964734. 2
600964735. 3
600964736. 4

Question Number : 35 Question Id : 600964185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the circuit shown, the currents /; and /, are respectively

A
' Yl /
5LZ§ 150

3A

L4A4A

2.2A;6A

3.6A;2A

4.5A;3A

Options :

600964737. 1
600964738. 2
600964739. 3
600964740. 4

Question Number : 35 Question Id : 600964185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

g g faegd oy & 4RTG 1, 3R 1, F99:

3A
g ' TF;
L
5.;_.;: §|5':.'
3A
LA4A4A
22A:6A
30A:2A
45A:3A

Options :

600964737. 1
600964738. 2
600964739. 3
600964740. 4

Question Number : 36 Question Id : 600964186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The electric field due to an infinitely long thin straight wire with uniform linear charge density A at a
radial distance r from the wire is ( & is the permittivity of free space)

1. \/4neyr?
2. M2,

3. \/2ngyr?
4.\ 2neyr

Options :

600964741. 1
600964742. 2
600964743. 3
600964744. 4

Question Number : 36 Question Id : 600964186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ol T b 3R BT | 3l g Ul R b V] R B g8 r R g 4 g |
e I SFGPIR] ! fAGTRITerel (RIGGYF) ¢ |

1.1/ 4meyr?
2.1/2,

3.0 2me,r
4.2/ 2neyr

Options :

600964741. 1
600964742. 2
600964743. 3
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600964744. 4

Question Number : 37 Question Id : 600964187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Materials suitable for making an electromagnet should have

1. High permeability, high retentivity
2. High permeability, low retentivity
3. Low permeability, low retentivity
4. Low permeability, high retentivity

Options :

600964745. 1

600964746. 2

600964747. 3
600964748. 4

Question Number : 37 Question Id : 600964187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

FGAgra & o folU ST T @l gl aiey

1, Iod YR, I RO Terd]
2. 3d TR, 49 YROrsiiedd
3, {9 g, g ROt
4, 149 R, 3o RoTSiferel

Options :

600964745. 1
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600964746. 2
600964747. 3
600964748. 4

Question Number : 38 Question Id : 600964188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An electric dipole is enclosed by a Gaussian surface (see figure). The total electric flux through the
surface is

1. g/
2. Zero

3. -q/g,
4. 2q/e

Options :

600964749. 1
600964750. 2
600964751. 3
600964752. 4
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Question Number : 38 Question Id : 600964188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Pl deda fayd forel ol g gR1 uRes & (3R ST | 59 U8 3 ToRA a1 §d fagad Tl o

1. q/g,
) 3]

3. -q/g,
4-2q/¢,

Options :

600964749. 1
600964750. 2
600964751. 3
600964752. 4

Question Number : 39 Question Id : 600964189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A charge Q is placed at the centre of a thin spherical shell of radius R. An electron is moved from
point A to point B (see figure). The total work done will be

1. Zero

2. Q/4neyR

3. Q/4neg(2R)

4. Depends on the path followed
Options :
600964753. 1
600964754, 2

600964755. 3
600964756. 4

Question Number : 39 Question Id : 600964189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Pl A Q FIwAT R & el Uerel Tl G b dhess W 6| foell ol bl (9 A G fag B A d
T T § (1R <R | {7 e vl g1

1.9
2. Q/4me,R

3. Q/4mey(2R)
4 9 a1d 1Y T 1R

Options :

600964753. 1
600964754. 2
600964755. 3
600964756. 4

Question Number : 40 Question Id : 600964190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The resistance of the resistor shown in the figure is

Black  Siver
Brown | Red

1.(10 x 10% 0) £ 5%

2. (10 x 10% ) + 10%
3.(20 x 10 Q) £ 10%
4.(20 x 10* Q) + 5%
Options :

600964757. 1
600964758. 2
600964759. 3
600964760. 4

Question Number : 40 Question Id : 600964190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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3 H ST 70 Hfeiefd ol faR1Y §
g )

1. (10X 10° Q) + 5%
2.(10 X 10* Q) + 10%
3. (20 x 10 0) +10%
4.(20x 10" 0) + 5%

Options :

600964757. 1
600964758. 2
600964759. 3
600964760. 4

Question Number : 41 Question Id : 600964191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 57
57/223



9/18/2020

In a metre bridge the wire used is constantan or nichrome. This is because their

1. Resistivity is high

2. Resistivity is low

3. Temperature coefficient of resistivity is negligible
4. Melting point is high

Options :

600964761. 1
600964762. 2
600964763. 3
600964764. 4

Question Number : 41 Question Id : 600964191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Hiex g H PlgCcTe sra Heb I o R T AN (o Sl 6| S9! DRV ¢ 3P1/57a)

1, iRl 3w &
2 Wikl (U ©
3, 10 fcRleieell o1 Suegofi
IRIGCIERE
Options :
600964761. 1
600964762. 2

600964763. 3
600964764. 4
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Question Number : 42 Question Id : 600964192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

In the circuit (see figure), the value of current I is

40

A

1.033A
2.025A
3.020A

4.015A

Options :

600964765. 1
600964766. 2
600964767. 3
600964768. 4

Question Number : 42 Question Id : 600964192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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G0 70 Oy H (3R SRA0) YR/ 1A

4Q
MW

'\-‘—\-I
=
>

[

)

260

|,
[
2V, 2Q

1.033A

2.025A
3.020 A
4.015A

Options :

600964765. 1
600964766. 2
600964767. 3
600964768. 4

Question Number : 43 Question Id : 600964193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A charged particle enters perpendicular to a uniform magnetic field. Which of the following
statements is true for the charged particle?

1. Kinetic energy changes
2. Kinetic energy remains constant
3. Speed changes

4. Momentum remains constant
Options :
600964769. 1
600964770. 2
600964771. 3
600964772. 4

Question Number : 43 Question Id : 600964193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i AN U1 o5} U e & H & & v WA el ¢ | 59 S 1 & for -
A B Tl 67

1. ol oot ukafeld gt &
2. T ol e el &
3, 1 uRvafd gidl ¢
4, o P e @
Options :
600964769. 1

600964770. 2
600964771. 3
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600964772. 4

Question Number : 44 Question Id : 600964194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Consider a tightly wound 200 turns coil of radius 10 cm carrying a current of 1 A. The magnetic field
at the centre of the coil is (u, = 4n x 1077 TmA™)

1.2nx1074 T
24mx1074T
3. mx107° T

4 4nx1073 T
Options :
600964773. 1
600964774. 2
600964775. 3
600964776. 4

Question Number : 44 Question Id : 600964194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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10 cm P 1 e e 70 200 BT 1 forelt o], o 1 A e waf &1 e €, W fdeR
ﬁm|ﬁm$aﬁmmﬁq%(un=4nx 107 TmA™)

T2nx107* T
2.4mx107* T
32mx107% T
4 4nx 107 T

Options :

600964773. 1
600964774. 2
600964775. 3
600964776. 4

Question Number : 45 Question Id : 600964195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A horizontal component of Earth's magnetic field at a certain place is 3x 10-5 T and its direction is
from south to north. A long straight conductor carrying 2 A current is placed on a horizontal table
and the current goes from east to west. The force per unit length on the wire will be

1.15x10 Nm™
2.3%x10° Nm™
3.6Xx10° Nm™!
4.18x10°° Nm™!

Options :
600964777. 1
600964778. 2

Page - 63
63/223



9/18/2020

600964779. 3
600964780. 4

Question Number : 45 Question Id : 600964195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
(il I R Udt o JFao 1 & BT & 90 3 175 7 ¢ 74 D! (G2 GIE0T & IR 1 3R ¢
forelt Ao Aol TR i v e T v ¢ forer O @ 0fdm 1 3R 2 A R W 61 %61 61 3
IR ®1 IR Ui TRl IR BT 9 gl

115x10° Nm™
23%x10°° Nm™!
3.6X10°° Nm™!
418x10°° Nm™
Options :
600964777. 1
600964778. 2

600964779. 3
600964780. 4

Question Number : 46 Question Id : 600964196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The permeability of a paramagnetic substance, ; as compared to permeability of free space, y, is

1. > ly

2u» Hy

3. U< Ko

4u=p
Options :
600964781. 1
600964782. 2

600964783. 3
600964784. 4

Question Number : 46 Question Id : 600964196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

el Srara I U] 1 G, , 7 AR B URIA, B o A 1l 6

1. u>p
2pu»
<y,
4= H,

Options :

60096478]1.
600964782.
600964783.
600964784.

AW O~
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Question Number : 47 Question Id : 600964197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The magnetic energy stored in a solenoid in terms of magnetic field B, cross sectional area A and
length [ of the solenoid is

1. B*Al/y,
2. BAI[2y,
3. B:AIﬁpﬂ
4, E'AI,."pﬁ
Options :
600964785. 1
600964786. 2

600964787. 3
600964788. 4

Question Number : 47 Question Id : 600964197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

JHGHI &7, B SR BIC &AHa, A T THT, [ o Uai # fobt) ueTrfereet # Sifef T ol gl &

1. B*Al/p,
2. BAl/2y,
3. B%Al /2y,
4. BAl/p,

Options :

Page - 66
66/223



9/18/2020
600964785. 1
600964786. 2
600964787. 3
600964788. 4

Question Number : 48 Question Id : 600964198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A transmission line feeds input power at 2200 V to a step down transformer having primary winding
of 1000 turns. To get the output power at 220 V, the number of turns in the secondary winding will
be

1.50
2.100
3.1000

4.10000

Options :

600964789. 1
600964790. 2
600964791. 3
600964792. 4

Question Number : 48 Question Id : 600964198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Bl TRV @A 1000 BRI B WS FUgelt arel foredt ool CRIGITR &1 2200 V IR (d i &1
SR B 81 220 V R it idd W &t o foru foclias osll o Ul o1 S gl

1.50
2.100
3.1000

4.10000

Options :

600964789. 1
600964790. 2
600964791. 3
600964792. 4

Question Number : 49 Question Id : 600964199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The wavelength range of ultraviolet rays is

1.< 107 nm
2. 700 nmto 1 mm
3. 400 nm to 700 nm

4.1 nm to 400 nm
Options :
600964793. 1
600964794 2
600964795. 3
600964796. 4
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Question Number : 49 Question Id : 600964199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1.<107 nm
2.700 nm ¥ 1 mm
3,400 nm ¥ 700 nm

4.1 nm 3 400 nm

Options :

600964793. 1
600964794. 2
600964795. 3
600964796. 4

Question Number : 50 Question Id : 600964200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A series LCR circuit is connected to an ac source of frequency 50 Hz. If the value of the inductor is
100 mH; for resonance, the value of the capacitor is (take 2 = 10 )

11 yF
210 yF
3. 100 uF
4. 1000 pF

Options :
600964797. 1
600964798. 2
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600964799. 3
600964800. 4

Question Number : 50 Question Id : 600964200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
50 Hz 3f1afel o fobell i 4 I Uit LCR URTY Waiford §1 3 IR &1 HIF 100 mH 6, 1 3G &
foru Gy 1AM & (2 = 10 Wiy

1.1uF
2.10 pF
3. 100 pF

4,100 pF

Options :

600964797. 1
600964798. 2
600964799. 3
600964800. 4

Part I1 Chemistry
Section Id : 6009645
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes Page - 70
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Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 6009645
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 600964201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1

Select the correct option for the structure of Iproniazid :

NH
Y 2
H
1.
H
D N\ /k
N
2 H
| "
7
N

NH»
3 HO

SO,NH

NH;

Options :
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600964801. 1
600964802. 2
600964803. 3
600964804. 4

Question Number : 51 Question Id : 600964201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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SO,NH,

NH,

Options :
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600964801. 1
600964802. 2
600964803. 3
600964804. 4

Question Number : 52 Question Id : 600964202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the pH of normal rainwater?

1.109
2.1.0
3.5.6

4.84

Options :

600964805. 1
600964806. 2
600964807. 3
600964808. 4

Question Number : 52 Question Id : 600964202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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T IO & pH TG 2

1.109
2.1.0
3.5.6

4.84

Options :

600964805. 1
600964806. 2
600964807. 3
600964808. 4

Question Number : 53 Question Id : 600964203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match the polymer in Column-I with its application given in Column-II

Column-|

Column-lI

A. Polyvinyl chloride )

Wrapping material

B. Polystyrene 1}

Making electrical switches

C. Glyptal lIl.  Manufacture of lacquers and paints
D. Bakelite IV, Manufacture of raincoats
Select the correct option ;
1. A-l, B-Il, C-lIl, D-IV
2. A-IV, B, C-IlI, DI
3. A-IV, B-Il, CHI, D
4, A-1, B-IV, C-lI, -l
Options :

600964809. 1
600964810. 2
600964811. 3
600964812. 4

Question Number : 53 Question Id : 600964203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Diew-| H G2 T ORI Piaw-11 ¥ 1S TT 3rfh TuaiT & i Siforg

PIcH-|

PIH-I

A Ulfarfagd dnge

| Xt AR

B. UlfeReTZeH

I degd fRaall &1 faior

. frarwa

I, SR 1 U2 o ey fomfor #

\V, SFIe & FH |

A feg g fagpenl A9 el SR AU

D. §hallze

1. A<, B~II, C-IlI, D-IV

2. A1V, B-I, CHII, DI

3. A-IV, B-llI, C-I, D-

4. A-l, B-IV, C-lI, DIl
Options :

600964809. 1
600964810. 2
600964811. 3
600964812. 4

Question Number : 54 Question Id : 600964204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is the correct cyclic structure of b-D-(-)-fructofuranose?

(3
HOHC 0. OH
. Nu ol
H CH,0H
4 1
OH H
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Options :
600964813. 1
600964814. 2
600964815. 3
600964816. 4

Question Number : 54 Question Id : 600964204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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B-D-(-)- JACTRIRFIIV 1 W i el e 9 Bivf-afl 67

i
HOH,C 0. OH
L 5K, 2
- CH,0H
4 1
OH H
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Options :
600964813. 1
600964814. 2
600964815. 3
600964816. 4

Question Number : 55 Question Id : 600964205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Select the correct option for the one letter code for tryptophan, an amino acid.

1.7
2.P
3. H

4. W

Options :

600964817. 1
600964818. 2
600964819. 3
600964820. 4

Question Number : 55 Question Id : 600964205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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QIR TRYS TCPTORH < foTC Up-31eR Tl IS & Wel 19 B

1.7
2P
3.H
4. W

Options :

600964817. 1
600964818. 2
600964819. 3
600964820. 4

Question Number : 56 Question Id : 600964206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For the following ions, choose the correct statement.

1. lll is the most stable in aqueous phase
2. |is the most stable in aqueous phase
3. lllis the smallest in size

4. Il'is the most stable in aqueous phase
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Options :
600964821. 1
600964822. 2
600964823. 3
600964824. 4

Question Number : 56 Question Id : 600964206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i ST & fog g1 e

L Ry Ry Il- R,TIJ!H
H R

1, wieit graey # 1) waffs fRR §)
2. e e H | waffie fRR |
3,11l TR H God BleT 2

4, iehtg e 7 || Gaffs RR 7

Options :

600964821. 1
600964822. 2
600964823. 3
600964824. 4

Question Number : 57 Question Id : 600964207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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In the following reaction, what is A?

@
N:.zCl NEBF4 NO;

NaNDg
oF4 @ 2A heat i R

1. Cu

2 Pd

3. Cu(l)

4.5n
Options :
600964825. 1
600964826. 2

600964827. 3
600964828. 4

Question Number : 57 Question Id : 600964207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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g i d A F g2

@
NzC' NEBH NO;

NaNUg
o @ 2A heat i

1. Cu
2.Pd
3. Cu(l)
4.5n

Options :

600964825. 1
600964826. 2
600964827. 3
600964828. 4

Question Number : 58 Question Id : 600964208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the given organic reaction

NC
1. CgHsMgBr in ether
2.H0*

» A
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What is ‘A7

Options :

600964829. 1
600964830. 2
600964831. 3
600964832. 4
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Question Number : 58 Question Id : 600964208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A e ol fog
NC

1. CgHsMgBr in ether
2.HO0*

AT
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Options :

600964829. 1
600964830. 2
600964831. 3
600964832. 4

Question Number : 59 Question Id : 600964209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the given organic reaction, what is A?

H H A H H

- . — + CHCh
HyC CH; HiC  )—ONa

0 o
1. NaOH
2. NaOC|
3. NaCl
4, Cl,
Options :

600964833. 1

600964834. 2
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600964835. 3
600964836. 4

Question Number : 59 Question Id : 600964209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

&g e sffea H A g 2

H H A H H

‘:&r - = + CHCh
H4C / CHj H4C ONa

0 0

1. NaCH

2. NaOCl
3. NaCl
4. Cl,

Options :

600964833. 1
600964834. 2
600964835. 3
600964836. 4

Question Number : 60 Question Id : 600964210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange the following compounds in increasing order of acidity.

Or OH OH OH
. NO; "
II- lli- | : V-
Z N0,

NO,
Select the correct option.
LI<ll<IV<I
2I< V<l <l
<<l <V
41<l<li<Iv
Options :

600964837. 1
600964838. 2
600964839. 3
600964840. 4

Question Number : 60 Question Id : 600964210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Py e 5 el 3 o A e e

OH OH OH OH
NO;

NO,
NO,

el faded T

LI<ll <V <]l
21 <V <l <l
<<l <V
d1<ll<llF <V
Options :

600964837. 1
600964838. 2
600964839. 3
600964840. 4

Question Number : 61 Question Id : 600964211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What will be the product ‘A’ in the given organic reaction?

0...CHa

T
%

Options :
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600964841. 1
600964842. 2
600964843. 3
600964844. 4

Question Number : 61 Question Id : 600964211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A & 18 e vl A S A RIS 2

0
NaBHs

UNC,CHg

o

Options : Page - 95
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600964841. 1
600964842. 2
600964843. 3
600964844. 4

Question Number : 62 Question Id : 600964212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following compounds will be the most reactive towards Sy1 reactions?

Cl
1 H3C\|/CH3

CH;
Cl

Options :

600964845. 1
600964846. 2
600964847. 3
600964848. 4

Question Number : 62 Question Id : 600964212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is ng&i(yg?
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Sy,1 I o Ul Y Q] o ¥ SH-w1 Gaive i grm

Cl
1 H3C\|/CH3

CH,
C

Options :

600964845. 1
600964846. 2
600964847. 3
600964848. 4
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Question Number : 63 Question Id : 600964213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Select the correct option for the following structures of picric acid :

Q

HOOC OH

HOOC 0,
COOH

HO COOH
NO,
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Options :
600964849. 1
600964850. 2
600964851. 3
600964852. 4

Question Number : 63 Question Id : 600964213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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R 3t ) e 5 g ) R g

OH
1. HO
HOOC OH
NO,
2.‘ OﬁAQ
HOOC NO,
COOH

3. HWCQ
HO COOH
NO,
-
HO  NO,

Options :
600964849. 1
600964850. 2
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600964851. 3
600964852. 4

Question Number : 64 Question Id : 600964214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following compounds is aromatic?

—
()

e

Options :

600964853. 1
600964854. 2
600964855. 3
600964856. 4
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Question Number : 64 Question Id : 600964214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

i gl § 3 pH-aT WAl § 2

—
!\

4, /J

(=]

Options :

600964853. 1
600964854. 2
600964855. 3
600964856. 4

Question Number : 65 Question Id : 600964215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Carius method is used for the quantitative analysis of

1. nitrogen
2. sulphur
3. halogen

4. phosphorous
Options :
600964857. 1
600964858. 2
600964859. 3
600964860. 4

Question Number : 65 Question Id : 600964215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i TR o 1 2 o e i o fofu o @i €7

1. A1gClvl

2. el

3, -EH? ul]

4, DRORY
Options :
600964857. 1
600964858. 2
600964859. 3

600964860. 4
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Question Number : 66 Question Id : 600964216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the nature of Lassaigne’s extract?

1. Neutral
2. Mild acidic

3. Strong acidic

4, Basic
Options :
600964861. 1
600964862. 2
600964863. 3
600964864. 4

Question Number : 66 Question Id : 600964216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

R AR B IS AN 2

1, Uf-t I
2. 7G 3l
3, Jdd 3wty

4, 4RI

Options :
600964861. 1
600964862. 2
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600964863. 3
600964864. 4

Question Number : 67 Question Id : 600964217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The asmotic pressure of equimolar solutions of sucrose, KCl and BaCl, will be in the order of

1. BaCl, < KCl < Sucrose
2. Sucrose < BaCl, < KCl
3. Sucrose > BaCl, > KCl
4. BaCly > KCl > Sucrose

Options :

600964865. 1
600964866. 2
600964867. 3
600964868. 4

Question Number : 67 Question Id : 600964217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1. BaCly < KCl < eI
2. 9PN < BaCl, < KCI
3, 4N > BaCly > KCl
4,BaCl, > KCI > GpIg

Options :
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600964865. 1
600964866. 2
600964867. 3
600964868. 4

Question Number : 68 Question Id : 600964218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The mass of urea (NH,CONH,) required for making 2.5 kg of 0.25 molal aqueous solution is

1.3694¢
2.3694 g
3,377 ¢

43807 g

Options :

600964869. 1
600964870. 2
600964871. 3
600964872. 4

Question Number : 68 Question Id : 600964218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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0.25 HIcTel el fderat @1 2.5 kg &1 1T 3Ta=ad ZRaT (NH,CONH,) &1 J1 gl

1369 g
23694 ¢
337279
43807

Options :

600964869. 1
600964870. 2
600964871. 3
600964872. 4

Question Number : 69 Question Id : 600964219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The incorrect statement out of the following is

1. Temperature at which a real gas obeys ideal gas laws over an appreciable range of pressure is
Boyle temperature,
2. Compressibility factor is defined as the ratio of molar volume of the gas had it been ideal to the

actual molar volume of the gas.
3. Critical temperature of a gas is the temperature above which it cannot be liquefied no matter how

high the pressure is,
4. Critical pressure is the minimum pressure required to liquefy a gas at its critical temperature.

Options :
600964873. 1

600964874. 2 Page - 108
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600964875. 3
600964876. 4

Question Number : 69 Question Id : 600964219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

79 5 8 e P |

1. 39 & e R W @ a7 ford TR aRalia 19 1G] 719 il ¢, dfa am gl

279 & ey g W 99 Hidlg Hdd a3 aRdfdd Al AEa & Hud & w U H
el o 1 ufveqfid B ¢

3,119 &1 Fifdd d1Y 9 1Y &, foreh SR 38 G4 Tel &1 off Wil ¢ e forciTl ¥l 3 <7
S|

4, T T 1 3 I T TR g e o forw e T i 7, il @ el

Options :

600964873. 1
600964874. 2
600964875. 3
600964876. 4

Question Number : 70 Question Id : 600964220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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On the basis of the Maxwell-Boltzmann distribution of molecular speeds, identify the incorrect
statement in the following :

1. At the same temperature, N, molecules move faster than the Cl, molecules.

2. The maximum in the Maxwell-Boltzmann curve represents the most probable speed.

3. The average speed of CO; molecules is more than CHy molecules.

4, At a particular temperature, the individual speed of molecules keeps changing but the
distribution of speeds remains the same.

Options :

600964877. 1
600964878. 2
600964879. 3
600964880. 4

Question Number : 70 Question Id : 600964220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

311U Tl & HAGA-GIecqHH g o SUR R 7 ¥ & 70 &2 3l Teae

1. T 1 a1 W Cl, 071 a1 H N, 0] el 5erd ¢

2. NG SecqHH a # S, Wicha avl &l G2l ¢

3, CO, U3 1 3t el CH, 3fpsfl ot iy 71fa & e gidh &1

4, U AR T W, S{paff o faflw (ot 1fa el gt § WReq A @1 ded 7l el ¢l

Options :
600964877. 1
600964878. 2

600964879. 3
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600964880. 4

Question Number : 71 Question Id : 600964221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match the following reactions in Column-I to the correct enthalpy associated with them given in

Column-II ;

Column-| Column-Il
A CgHy(l) +=0, +6C0,(g)+ 3H,0() | B H°
B. NaCl(s) - Na*(g)+ CI™(q) 1 BpygH°
C. AB(s) — A’ (aq)+B"(aq) I oaH |
D. A*(g)+B7(g) — A'(aq)+ B (aq) w. BgyH’

Choose the correct option from the following :

1. A-lll, B, C-IV, DAl

2. A-Ill, B, CHI, D-IV

3. A-ll, B, C-IV, DI

4. A-IIl, B-I, C-, D-IV
Options :

600964881. 1
600964882. 2
600964883. 3
600964884. 4

Question Number : 71 Question Id : 600964221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is 95168@01“]1
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A9 Sl (@Ta-) B 38 awald Tledt (@lam-I) § A Bif:

Bl BIH-I
15
A C.H, (1) +=-0, - 600,(g) +31,0() L Ay HE
B. NaCl(s) = Na*(g) + CI™(g) I. Ay gH
C. AB(s) - A" (aq)+B(aq) Il 8 He
D.A"(g)+ B™(g) ~A"(aq)+ B(aq) V.8, HC
A fou u faapeat # 9 el I U
1. A-lll, B-I, C-IV, DIl
2. A-lll, B, C-II, D-IV
3. A-ll, B-I, C-IV, Dl
4, A-Ill, B-1I, C-I, D-IV
Options :

600964881. 1
600964882. 2
600964883. 3
600964884. 4

Question Number : 72 Question Id : 600964222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Choose the incorrect statement out of the following :

1. In a reversible process, the system and surroundings are always in equilibrium with each other.
2. Work done in a free expansion > 0.
3. For adiabatic change, Aqg=10.
4. For a process carried at constant pressure, AH = q,.
Options :
600964885. 1
600964886. 2

600964887. 3
600964888. 4

Question Number : 72 Question Id : 600964222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

17 H 4 TTed Y BT 719 Dot

1, SpAviTg U o T UNE g I A 3G ¢
2. U6 1GR9 o Hd TR & o1 gl el > 0 gl
3, G U o ferg Ag=0

4 ROR T R 97 U U A & G, aH =g

Options :

600964885. 1
600964886. 2
600964887. 3
600964888. 4
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Question Number : 73 Question Id : 600964223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the reaction, N,(g) + 3H,(g) = 2NH,(g) +22.2 keal the effect of increasing temperature and

pressure on the equilibrium will be
A. On increasing temperature, the reaction will go backwards.

B. On decreasing pressure, the reaction will go backwards.

C. On increasing temperature, reaction will go forward.
D. On increasing pressure, reaction will go backward.
Choose the correct pair of statements from the above,

1.CD
2AB
3.AD

4.8, C
Options :
600964889. 1
600964890. 2
600964891. 3
600964892. 4

Question Number : 73 Question Id : 600964223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 Page - 114
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UGBTI N, (g) + 3H, (g) = 2NHy (g) + 222 keal P (610 TIFG TR 10 1 ST I AGIH T 1A G
A, A0 §gA W, sfifgar uy fw i s

B. &1d e W, ififobar uy fewm 1

C. 1 G W, aif¥ichar 3 fem bl st

D. fd dg W, i fshar uy feum i i

SR # 9 ol F1 Fel I AT

1.C.D
2AB
3.AD
4.8,C

Options :

600964889. 1
600964890. 2
600964891. 3
600964892. 4

Question Number : 74 Question Id : 600964224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 115
115/223



9/18/2020

The pH of a 1x10® mol/L solution of NaOH at 25 “C'is (Given : log 95 = 1.977)

1.7.10

2.1.02
3.6.98
4.6.90

Options :

600964893. 1
600964894. 2
600964895. 3
600964896. 4

Question Number : 74 Question Id : 600964224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
25 °C TR NaOH @ 1x 1078 mol/L fatrH &1 pH §

(AT E - log 95 = 1977)

1.7.10
2.7.02
3.6.98
4.6.90

Options :

600964893. 1
600964894. 2
600964895. 3
600964896. 4
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Question Number : 75 Question Id : 600964225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the molar solubility of zirconium phosphate Zr3(PQ,), is S mol/L and its solubility product is K,
then the relationship between K, and § is
. 1/7
6912,

Options :

600964897. 1
600964898. 2
600964899. 3
600964900. 4

Question Number : 75 Question Id : 600964225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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gfe forplie wihe Zr,(PO

s 1 HIR 97T S mol/L. @ 3o ¥ [dc URRLA K il K,
TS § S T g

Options :

600964897. 1
600964898. 2
600964899. 3
600964900. 4

Question Number : 76 Question Id : 600964226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In which of the following compounds, none of the elements has a fractional oxidation number?

1. Na,$,0,
2. Mn,0,
3. C,0,
44,0,

Options :
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600964901. 1
600964902. 2
600964903. 3
600964904. 4

Question Number : 76 Question Id : 600964226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i gifte! | & fud ot ot 7 ot foraTes Sfafiavor 96T T8l § 2

1. Na,8,0,

2. Mn,0,

3 C;0,

4 HZDZ
Options :
600964901. 1
600964902. 2

600964903. 3
600964904. 4

Question Number : 77 Question Id : 600964227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The standard Gibbs free energy for the following reaction is
Fe?* (aq)+Ag’ (aq) — Fe™ (aq)+Aq(s)

Given: Enhg*_-_&g =080V: E =077V EF 2. ==044V

FE3+ F E.*

1.-2.894 kJ/mol

2.-2.8% J/mol
3. - 239.287 kJ/mol
4.239.287 k)/mol

Options :

600964905. 1
600964906. 2
600964907. 3
600964908. 4

Question Number : 77 Question Id : 600964227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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g siffan & for ae iy g 3ol @
Fe** (aq)+Ag"(aq) — Fe™(ag)+Ag(s)
Given: Eyg/pg=080V; ET e =01V, ET e o =-044V

1.-2.894 kJ/mol
2.~ 2.8% )/mol

3. - 239.287 kJfmol
4,239.287 kl/mol

Options :

600964905. 1
600964906. 2
600964907. 3
600964908. 4

Question Number : 78 Question Id : 600964228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The molar conductance of a solution with conductivity 0.248 Sm~" and concentration 0.2 mol m™>

l%. 0.124 S cm? mol ™"
2.1.24 Smé mol™
3,124 S cm? mol™
4,124 Sm? mol™’

Options :

600964909. 1 Page - 121
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600964910. 2
600964911. 3
600964912. 4

Question Number : 78 Question Id : 600964228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TS [0 &1 F1aHa1 0248 S m~! T Il 0.2 mol m~3 8, T 3P AR Aqdd

Ul _
1.0.124 Scm? mol”

2.1.24Sm’ mol™’
3,124 S cm? mol™
4.124'S m? mol™

Options :

600964909. 1
600964910. 2
600964911. 3
600964912. 4

Question Number : 79 Question Id : 600964229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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For a reaction, A+ B - products, the rate is doubled when the concentration of B is halved (keeping
[A] constant), while the rate is halved when the concentration of A is halved (keeping [B] constant),
The overall order of the reaction is

1.1
2.05
3.0

4.2
Options :
600964913. 1
600964914. 2
600964915. 3
600964916. 4

Question Number : 79 Question Id : 600964229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HFT 4 + B SG P Y ([A) P AR T GU) 79 B B Azl ool 5w ) ol &, fopa
G g1 Ol & 3 ( [B) 1 R T GU) W16 A 1 Wit oneft v &l okt €, fop ot & oot gt
A 81 I AR W A 3t Fife

1.1
2.05
3.0
4.2

Options :

600964913. 1 Page - 123
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600964914. 2
600964915. 3
600964916. 4

Question Number : 80 Question Id : 600964230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a graph of a first-order reaction of R = P?

rata In[R] log[R},R] P Y

fime fime _ time Rl

Choose the correct option from the following :

1.a
2D
3.¢
4.d

Options :
600964917. 1
600964918. 2
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600964919. 3
600964920. 4

Question Number : 80 Question Id : 600964230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(78 A -1 A BIfe AHHT p 5 p FITH TR G 2
s
P I ing RlyR

0 9 el fasbed Ifu:

1.a.
2.b.
3.C
4.4,

Options :

600964917. 1
600964918. 2
600964919. 3

lys

[R]
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600964920. 4

Question Number : 81 Question Id : 600964231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The process of removing ions (or molecules) from a sol by diffusion through a permeable membrane

is called

1. Ultrafiltration
2. Dialysis

3. Electrophoresis
4. Osmosis

Options :

600964921. 1
600964922. 2
600964923. 3
600964924. 4

Question Number : 81 Question Id : 600964231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U TRV foyeet] © BN TR0l a1 (ol et & o] (310p3fh) 1 §e b Wb B! ol 9Tl

1.3@&&“@%{%@ ﬁivéﬂ:lj
2. HUIE (STaferi)

s S

4, TRIERT (1)
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Options :
600964921. 1
600964922. 2
600964923. 3
600964924. 4

Question Number : 82 Question Id : 600964232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When NaCl solution is added to a solution of AgNO,, the AgCl sol produced is

1. Negatively charged due to the adsorption of NO5™ ions.
2. Negatively charged due to the adsorption of CI™ ions.
3. Positively charged due to the adsorption of H™ ions.

4. Positively charged due to the adsorption of Ag™ ions.
Options :
600964925. 1
600964926. 2
600964927. 3
600964928. 4

Question Number : 82 Question Id : 600964232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 127
127/223



9/18/2020

W1d NaCl faera @i AQNO, b fderart # e ol &, ot W g1 arel AgCl

1. NO;~ 3Tt & SIS 3 PRI FHOTARI gl @
2. CI~ A & S & HRU BURRG 6l &
3, H* 3l & N & SRYT AR il ¢
4, Ag* STl 3 SHTRIRINUT & BRI ¢TI gl &
Options :
600964925. 1
600964926. 2

600964927. 3
600964928. 4

Question Number : 83 Question Id : 600964233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Temperature 23 °F is equal to in °C.

145

2-95

3+1

4.-7
Options :
600964929. 1
600964930. 2

600964931. 3
600964932. 4

Question Number : 83 Question Id : 600964233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

T 23 F g (°CH)

1.+5
2.-5
3.+17
4.-1
Options :
600964929. 1
600964930. 2

600964931. 3
600964932. 4

Question Number : 84 Question Id : 600964234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In face-centred cubic (fcc) structure, each sphere is in contact with spheres.

1.6
2.8
3.12

4.4
Options :
600964933. 1
600964934. 2
600964935. 3
600964936. 4
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Question Number : 84 Question Id : 600964234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

eih- b1l TG (fec) SR H Yl TTel febrt Tl o b H &7 2

1.6
2.8
3.12

4.4

Options :

600964933. 1
600964934. 2
600964935. 3
600964936. 4

Question Number : 85 Question Id : 600964235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A 50-watt bulb emits monochromatic yellow light of wavelength of 0.60 ym. The number of photons

emitted per second by the bulb is

1.23 x 10%
2.1.1x 10"
3,18 x 10"
4,15 x 109

Options :

600964937. 1
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600964938. 2
600964939. 3
600964940. 4

Question Number : 85 Question Id : 600964235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

50 41C &1 U dcd 0.60 um dIGE] &1 Thavll Urell Y Sedivid &3l gl ded gRI Scaiid Ufd
UHUg BIcH! & GE1 gl

1.2.3 x 107
2.1.1x 10"
3,18 x 10"

4,15 x 10%
Options :
600964937. 1
600964938. 2
600964939. 3
600964940. 4

Question Number : 86 Question Id : 600964236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Electron gain enthalphy of elements in decreasing order of magnitude is

1. F>5>0:0
2. F>0>5>(|
3.CI>F>S$>0

4.CI>F>055
Options :
600964941. 1
600964942. 2
600964943. 3
600964944. 4

Question Number : 86 Question Id : 600964236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

vl &1 gaidei alel Tl o URHI T 9o 6 ¢

1. F>5>0x0
2. F>0>5>(
3.CI>F>S$>0

4. CI>F>055
Options :
600964941. 1
600964942, 2
600964943. 3
600964944. 4

Question Number : 87 Question Id : 600964237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match the rule/theory in column-| with their scientists, who proposed them given in column-Il ;

Column-| Column-Il
A Octet rule |. Heitler-London
B. Covalent bond |I. Kossel-Lewis
C. Valence-bond theory lIl. Hund-Mulliken
D. Molecular orbital theory V. Langmuir

Select the correct option :

1. A-lI, B-III, C-IV, D-|
2 A-lll, B-IV, C, DI
3. A=V, B, C-II, DIl

4, A-ll, B-IV, C-, DI
Options :
600964945. 1
600964946. 2
600964947. 3
600964948. 4

Question Number : 87 Question Id : 600964237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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i1 UL el vl 1 -1 4 g 70 32 TRaad e arel ! @ aferd ifoie

F

PIH- PIH-I
A, 39 fAaH |, GIgCeR-aa

B. GG 3G I, BTG 7l T2

C. Gaorbd-afe Rigrd Il BUE 1 i
D. U] b gl v, TR

i fGU T fdeped ﬁﬁﬂﬁﬂﬂ?iﬁlﬂz

1. A-1l, B-IIl, C-IV, D-|
2. A-lIl, B-IV, C, DI
3. A-IV, B, C-I, DIl
4. A-ll, B-IV, C-I, D-IV
Options :
600964945. 1
600964946. 2

600964947. 3
600964948. 4

Question Number : 88 Question Id : 600964238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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At atmospheric pressure, ice crystallises in the X form, however it condenses to ¥ form at lower
temperature. What are X and ¥?

1.X = cubic, Y = hexagonal
2. X = cubic, Y = cubic
3. X = hexagonal, ¥ = hexagonal
4. X = hexagonal, Y = cubic
Options :
600964949. 1
600964950. 2

600964951. 3
600964952. 4

Question Number : 88 Question Id : 600964238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
a3 R a6 X ¥ 1 foeferd gl ¢ i (9 a1 R ag v ® 9 H 9aid Sl g1 X au v
87

1.X =Yg, v = Yoy
2.X =" Y ="
3.X = Yol v = weahiiig
4 X = edinity, v = i
Options :
600964949. 1

600964950. 2
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600964952. 4

Question Number : 89 Question Id : 600964239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The most abundant cation within cell fluids which participates in the oxidation of glucose to produce
ATP is

1. sodium ion

2. magnesium ion
3. potassium ion
4. calcium ion

Options :

600964953. 1
600964954, 2
600964955. 3
600964956. 4

Question Number : 89 Question Id : 600964239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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BIRHT (Ge) 59 & e dgdrd I e vl o, ol ATP 0a1 &l 1 Wlel & St § yi
e,

1.9 SUH A4
2. FUlifAre
3, QT3 3
4, BT 3T
Options :
600964953. 1
600964954. 2

600964955. 3
600964956. 4

Question Number : 90 Question Id : 600964240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match the elements in column-I with their ore in column-Il :

Column-| Column-I
A. Boron . Kernite
B. Aluminium Il. Galena
C. Tin lIl. Cryolite
D. Lead V. Cassiterite

Select the correct option :

1. A-lI, B-IlI, C-IV, D-|

2. A1, B-lIl, C-IV, DI

3. A-IV, B, C-I, D-IIl

4, A-ll, B-IV, C-, DI
Options :

600964957. 1
600964958. 2
600964959. 3
600964960. 4

Question Number : 90 Question Id : 600964240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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DIqH-| H 14T 70 ! I Piew-11 # ST T 37 3raeep! & Grferd pifort:

e v

HIaH- HIH-|
A RI | drlige

B, UeyHifgm I, e

C.feq Il orTeTge

D. 1S IV, BECREE

i feu T fadedt 9 &gl SR U

1. A-ll, B-lll, C-IV, D-

2. A-l, B-IIl, C-IV, D-ll

3. A-IV, B~I, C-I, DIl

4. A-Il, B-IV, C-I, DI
Options :

600964957. 1
600964958. 2
600964959. 3
600964960. 4

Question Number : 91 Question Id : 600964241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Water gas and producer gas are respectively

1.C0+H, and CO+N;,
2.C0,+H; and CO+N,
3.C0+H; and COy+ Ny
4 COE + Hg- and CO; + N;_a

Options :

600964961. 1
600964962. 2
600964963. 3
600964964. 4

Question Number : 91 Question Id : 600964241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WIT- 3R 79 (@1eR 719) a1 a7- 3R 719 (FISTER 19) ¢, HHk:

1.CO + H,d41CO + N,

2.C0, + Hy T1CO + N,
3,C0 + H, @1 CO, + N,
4, C'Dg + H;-HUI COQ + Ng

Options :

600964961. 1
600964962. 2
600964963. 3
600964964. 4
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Question Number : 92 Question Id : 600964242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the froth floatation process, which one of the following can be used as froth stabilizer?

1. Pine ol
2. Fatty acid
3. Xanthate

4. Aniline
Options :
600964965. 1
600964966. 2
600964967. 3
600964968. 4

Question Number : 92 Question Id : 600964242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Usef il Yo 9 1 et Il o 0 ¥ Tt fob] off it § 7

1, 418 &1 dd (U1 )
2. Bl uis
3, uiYe
4, UTe
Options :
600964965. 1
600964966. 2
600964967. 3
600964968. 4

Page - 141
141/223



9/18/2020

Question Number : 93 Question Id : 600964243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

At elevated temperature (~1000 K), sulphur exists as

1.5
2.
3.5,
4.

Options :

600964969. 1
600964970. 2
600964971. 3
600964972. 4

Question Number : 93 Question Id : 600964243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IS (~1000 K) T Telb? [ &1 # Al 2

1.5
2.
3,5,
4

Options :
600964969. 1

600964970. 2 Page - 142
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600964971. 3
600964972. 4

Question Number : 94 Question Id : 600964244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Among the given halides, which one is the least covalent?

1, SbCls
2.5nCl,
3,5nCly

4. PbCly
Options :
600964973. 1
600964974. 2
600964975. 3
600964976. 4

Question Number : 94 Question Id : 600964244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g el 3 4 -9 3icTa Feddior g 2

1, SbCls
2.5nCl,
3,5nCly

4. PbCly

Options :

Page - 143
143/223



9/18/2020
600964973. 1
600964974. 2
600964975. 3
600964976. 4

Question Number : 95 Question Id : 600964245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match the compounds in column-| with their geometry given in column-II

Column-| Column-Il
A, XeO; . Distorted octahedral
3. XeOF, I Square pyramidal N
C. XeFg lIl. Square planar
D. XeF, V. Pyramidal

Select the correct option :

1. A-IV, B-Ill, C-lI, D-|
2. A-lll, B-IV, C, DI
3. A-IV, B-I, C-, DIl
4. A-ll, B-IV, C, DI

Options :

600964977. 1
600964978. 2
600964979. 3
600964980. 4
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Question Number : 95 Question Id : 600964245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HIcTH-| H G 0 AT Bl Bicr-1| 3 & 7 T 8 ofcrd Hifore

BIH- CARLE]
A XeO; | [dpd sPHadly
B. XeOF, I 3 Rl
C. XeFe Il 3 erell
D. XeF, VANEE

i fGuu fqdedt 99 g8 IR g

1. A-IV, B-lll, C-II, D
2. AT, B-1V, C, DAl
3. A-IV, B-II, C-I, DIl
4. A-ll, BV, C-, DI

Options :

600964977. 1
600964978. 2
600964979. 3
600964980. 4

Question Number : 96 Question Id : 600964246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following fluoride is not known?

1. CFF&
2. MnFg
3. MnF4

4, Crks
Options :
600964981. 1
600964982. 2
600964983. 3
600964984. 4

Question Number : 96 Question Id : 600964246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

RO H A PH-G RRGE TId Tl 6 ?

1. CFF,E
2. MnF¢
3. MnFy4

4. Crfs

Options :

600964981. 1
600964982. 2
600964983. 3
600964984. 4

Question Number : 97 Question Id : 600964247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Qé'ﬁétiof%
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

In the given statements, which is not true for an interstitial compound?

1. Retains metallic conductivity

2. Very hard

3. High melting point, lower than those of pure metals
4. Chemically inert

Options :

600964985. 1
600964986. 2
600964987. 3
600964988. 4

Question Number : 97 Question Id : 600964247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

et il & a1 A Fgfafad 7 § oH-91 544 Tel el o7

1, q e bl PO T
2 TTEAPOR T
3, 1 T G G ¢ el 9 9 90 g 3 e gt ¢
4, 4 % g fftpa g
Options :
600964985. 1
600964986. 2

600964987. 3
600964988. 4
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Question Number : 98 Question Id : 600964248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The correct electronic configuration of Ytterbium (Yb) whose atomic no. is 70, is

1. [Xe]4f'25d%6s?
2. [Xe]4f"“5d%6s"
3, [Xe]4f'*5d"6s"
4, [Xe]4f'"*5ds’
Options :
600964989. 1
600964990. 2

600964991. 3
600964992. 4

Question Number : 98 Question Id : 600964248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

sefdam (vb), fora! TRA T 70 €, F1 96! el faarg g

1. [Xe]4f'25d26s?

2. [Xe]4f'"“5d%6s"

3. [Xe]4f'*5d'6s’

4, [Xe]df'*5d6s°
Options :

600964989. 1

600964990. 2
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600964991. 3
600964992. 4

Question Number : 99 Question Id : 600964249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct increasing order of the ligands on the basis of splitting of d orbitals.

1, edta® < NH; < CN" < en
2.en < edta® < NH; < CN
3, edta® < NH3 < en < CN°
4. en < NH; < edta™ < CN”

Options :

600964993. 1
600964994. 2
600964995. 3
600964996. 4

Question Number : 99 Question Id : 600964249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

4-BED & [9UTc b YR R fefe] (el 1 g) Sgal 4 T

1.edta* < NH; < CN" < en
2.en < edta® < NH; < CN
3, edta® < NH; < en < CN°

4, en < NH; < edta™ < CN”

Options :
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600964993. 1
600964994. 2
600964995. 3
600964996. 4

Question Number : 100 Question Id : 600964250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
d-orbital splitting in a tetrahedral crystal field is

2/5)A; above barycentre and (3/5)4; below barycentre
2/5)A, above barycentre and (3/5)4, below barycentre
2/5)A; below barycentre and (3/5)4; above barycentre

[
(
[
(2/5)4\, below barycentre and (3/5)A, above barycentre

1.
2
3
4,
Options :

600964997. 1
600964998. 2

600964999. 3
6009641000. 4

Question Number : 100 Question Id : 600964250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TqHADH e & H o-Fef faure ¢

1. B%d & (2/5)0, PR AU G5 & (3/5)4 "
2. G & (2/5), FW AU s & (3/5)4, A4
3, b b (2/5)A I qUI Dsd b (3/5)A FW
4, H5d B (2/5)A, I T H5d $ (3/5)4, TR

Options :
600964997. 1
600964998. 2
600964999. 3
6009641000. 4

Part III Agriculture
Section Id : 6009646
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 6009646
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 600964251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

Headquarter of Indian Meteorological Department is situated in which city?

1. New Delhi
2. Mumbai
3. Bengaluru

4, Pune
Options :
6009641001. 1
6009641002. 2
6009641003. 3
6009641004. 4

Question Number : 101 Question Id : 600964251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WGl e a4 1 g $g) 1e4d 67

1,73 feael
2. 75

3, 977Gk
4,0

Options :

6009641001. 1
6009641002. 2
6009641003. 3
6009641004. 4
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Question Number : 102 Question Id : 600964252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which among the following is not a greenhouse gas?

1. Ammonia

2. Carbon dioxide

3. Water vapour

4. Methane
Options :
6009641005. 1
6009641006. 2

6009641007. 3
6009641008. 4

Question Number : 102 Question Id : 600964252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

oo 4 Q p-a fiverea 19 el 2
1, 31T

2. B SEAHTHES
3, sy
4, AU

Options :

6009641005. 1

6009641006. 2
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6009641007. 3
6009641008. 4

Question Number : 103 Question Id : 600964253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following factors stimulate the enzymes activity?

A. Substrate concentration

B. pH

C.  Temperature

D.  Enzyme concentration

Choose the correct answer from the options given below;

1. Aonly
2.AandB

3. A BandC
4.A B CandD

Options :

6009641009. 1
6009641010. 2
6009641011. 3
6009641012. 4

Question Number : 103 Question Id : 600964253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes I age - 154
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Ti15A 1 foparelterd g @ @ i oRa] | R 3t 82
A TG & Frgal

B dL.um

C. A

D. UAiTgH &l W

A fou e fadedt 7 4 W) IR

1. &dd A
2.ATGB
3.ABTEC
4.ABCUAD

Options :

6009641009. 1
6009641010. 2
6009641011. 3
6009641012. 4

Question Number : 104 Question Id : 600964254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one is disaccharide carbohydrate?

1. Glucose
2. Galactose
3. Lactose

4. Fructose
Options :
6009641013. 1
6009641014. 2
6009641015. 3
6009641016. 4

Question Number : 104 Question Id : 600964254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TGP DIAIGIZSC HMF-8I 67

1, DI
2. Tl
4, T

Options :

6009641013. 1
6009641014. 2
6009641015. 3
6009641016. 4

Question Number : 105 Question Id : 600964255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il
A. Nucleus . C. Benda
B. Mitochondria II. Porter

C. Endoplasmic reticulum | [ll. Dave

D. Lysosome

IV. Robert Brown

Choose the correct answer from the options given below:

1. A1V, B-lll, I, DI

2. A1V, B-II, C-, DI

3. A-IV, B-lll, C-lI, D-|

4. A-IV, B, C-II, DA
Options :

6009641017. 1
6009641018. 2
6009641019. 3
6009641020. 4

Question Number : 105 Question Id : 600964255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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el -1 1 el -1 4 GAferd Pifort

-

A 5

|, 41, 98]

B. ATgCIPIUSHI

I e

C. =Yg SfciapT

I, 4

D. IEERH

IV, 42 §15

1. A-IV, B-IlI, C-1, DIl
2. A-IV, B-ll, C-I, DAl
3. A-1V, B-Ill, C-lI, D-1
4. A-IV, B, C-lI, DI

Options :

6009641017. 1
6009641018. 2
6009641019. 3
6009641020. 4

Question Number : 106 Question Id : 600964256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements is correct in relation to meiotic division?

1. Formation of chiasma and crossing-over takes place in Diplotene.
2. Nucleolus and nuclear membrane disappear in Diakinesis.

3. Chromosomes become shorter and thicker in Pachytene,

4. Synaptonemal complex develops during Leptotene,

Options :

6009641021. 1
6009641022. 2
6009641023. 3
6009641024. 4

Question Number : 106 Question Id : 600964256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3R faroR & T A g A S - o W 7

1, HITSH] BT 4101 T4 PIRT-3feR F3ifes H g &
2. ST H il T besidh It g 6l il o
3, UoTgfor | URE oS  &H U4 A1 gl olld ¢ |
4, QI ¥ WSV BIcia & fabr gl o
Options :
6009641021. 1
6009641022. 2

6009641023. 3
6009641024. 4
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Question Number : 107 Question Id : 600964257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is known as initiation codon?

1. ACC
2. AUG
3. AUC

4. UAC

Options :

6009641025. 1
6009641026. 2
6009641027. 3
6009641028. 4

Question Number : 107 Question Id : 600964257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

frafafad o 2 i sRfRe e aF oIa

1.ACC
2. AUG
3. AUC

4. UAC

Options :

6009641025. 1
6009641026. 2
6009641027. 3
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6009641028. 4

Question Number : 108 Question Id : 600964258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which is the best breeding method for an individual having tight linkage between desirable and
undesirable characters?

1. Mutation breeding
2. Bulk breeding

3. Heterosis breeding
4. Clonal breeding

Options :

6009641029. 1
6009641030. 2
6009641031. 3
6009641032. 4

Question Number : 108 Question Id : 600964258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

R i 1 o o o1 1 e g &, o 9 4 3 R -

1, FURTH Yo
2. BT T

3, G 3ot Yo
4, A Yo Yo
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Options :
6009641029. 1
6009641030. 2
6009641031. 3
6009641032. 4

Question Number : 109 Question Id : 600964259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is a self-pollinated crop?

1. Sunflower
2. Safflower
3. Castor

4. Groundnut

Options :

6009641033. 1
6009641034. 2
6009641035. 3
6009641036. 4

Question Number : 109 Question Id : 600964259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ffafed # ¥ G- W 5ga $H-81 2

1. SR

2. D
3, IRTg|

4, YTl
Options :
6009641033. 1
6009641034. 2
6009641035. 3
6009641036. 4

Question Number : 110 Question Id : 600964260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is known as addition of one chromosome to one pair in a diploid set?

1. Monosomic
2. Nullisomic
3. Trisomic

4. Polysomic

Options :

6009641037. 1
6009641038. 2
6009641039. 3
6009641040. 4

Question Number : 110 Question Id : 600964260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes IsPage - 163
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

TGTOTd (GRS WS H T 10 BT 937l 1 dalll &7

e
2 Jairardi®

3, Rl
4, Uil

Options :

6009641037. 1
6009641038. 2
6009641039. 3
6009641040. 4

Question Number : 111 Question Id : 600964261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Steps involved in tissue culture technique are

A Proliferation

B.  Culture medium

C.  Germination

D.  Tissues

E. Callus formation

Choose the correct answer from the options given below:

1A B CDandE

2.BACDandE
3.B,A,D,Cand E
4.D,B A EandC

Options :

6009641041. 1
6009641042. 2
6009641043. 3
6009641044. 4

Question Number : 111 Question Id : 600964261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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C. 3

D. b
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A1d feu e fadedl 7 9 w8l IR -

1.A.B,C D3RE
2.8,A CD3RE
3.B,A D, C3RE
4D B AE3NC
Options :
6009641041. 1
6009641042. 2

6009641043. 3
6009641044. 4

Question Number : 112 Question Id : 600964262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which organism's cell wall is made up of ‘Chitin"?

1. Plant
2 Fungi
3. Algae
4. Bacteria

Options :

6009641045. 1
6009641046. 2
6009641047. 3
6009641048. 4

Question Number : 112 Question Id : 600964262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(o offq @l Hifdie firc a1 ol & gic &

1.11eU
2. qd

3. dld

4, Wil
Options :
6009641045. 1
6009641046. 2

6009641047. 3
6009641048. 4
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Question Number : 113 Question Id : 600964263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the causal organism of potato wart disease?

1. Bacteria

2. Actinomycetes
3. Fung

4. Virus

Options :

6009641049. 1
6009641050. 2
6009641051. 3
6009641052. 4

Question Number : 113 Question Id : 600964263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
31 H AIC T B oD DIH-T1 57

1, ST
3, B
4, fauT]

Options :
6009641049. 1
6009641050. 2

6009641051. 3
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6009641052. 4

Question Number : 114 Question Id : 600964264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Where is Indian Veterinary Research Institute located?

1. Karnal

2. New Delhi
3. Mathura
4. |zzatnagar

Options :

6009641053. 1
6009641054. 2
6009641055. 3
6009641056. 4

Question Number : 114 Question Id : 600964264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WG 9] Fafehed e UM dgl 1R4d g7
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Options :
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6009641053. 1
6009641054. 2
6009641055. 3
6009641056. 4

Question Number : 115 Question Id : 600964265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which cross combination has been adopted to develop hybrid cow 'Karan Fries?

1. Holstein Friesian ~ x  Tharparkar

2. Tharparkar  x  Holstein Friesian
3. Jersey x  Sahiwal
4. Sahiwal — x  Jersey

Options :

6009641057. 1
6009641058. 2
6009641059. 3
6009641060. 4

Question Number : 115 Question Id : 600964265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009641057. 1
6009641058. 2
6009641059. 3
6009641060. 4

Question Number : 116 Question Id : 600964266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Who is known as Father of White Revolution?

1. M. S. Swaminathan
2.B.P.Pal
3. G. C. Banerjee

4.V. ). Kurian
Options :
6009641061. 1
6009641062. 2
6009641063. 3
6009641064. 4

Question Number : 116 Question Id : 600964266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

35 Pl T P [hd HHT Wl 67

1, 09, 09, WA
2.9l i, U

3, off, Wl il

4,41, 9, HRY

Options :

6009641061. 1
6009641062. 2
6009641063. 3
6009641064. 4

Question Number : 117 Question Id : 600964267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which is a dual purpose breed of cattle?

1. Deoni
2. Sahiwal
3. Tharparkar

4. Rathi
Options :
6009641065. 1
6009641066. 2
6009641067. 3
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6009641068. 4

Question Number : 117 Question Id : 600964267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T 1 fdrell 76 M- &2
1, Gl
2. relaTa
3. URURDY
4.8

Options :

6009641065. 1
6009641066. 2
6009641067 3
6009641068. 4

Question Number : 118 Question Id : 600964268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following animals is known as poor man's cow?

1. Desi Cow
2. Sheep
3. Goat

4, Camel

Options :
6009641069. 1
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6009641070. 2
6009641071. 3
6009641072. 4

Question Number : 118 Question Id : 600964268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[
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AR
2.8
3, g

4 %o
Options :
6009641069. 1
6009641070. 2
6009641071. 3
6009641072. 4

Question Number : 119 Question Id : 600964269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which among the following animals provides nutritional and livelihood security to under-privileged
rural people?

1. Goat
2. Buffalo
3. Cattle

4. Camel
Options :
6009641073. 1
6009641074. 2
6009641075. 3
6009641076. 4

Question Number : 119 Question Id : 600964269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

9 U I-91 SR et A0 QT b IO U SHTilieh] GR& WM el g7

1.9
2. 49
3,719

4. \dc
Options :
6009641073. 1
6009641074. 2
6009641075. 3
6009641076. 4
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Question Number : 120 Question Id : 600964270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the pasteurization temperature for milk in LTLT?

1.53°C
2.58°C
3.63°C

4.68 °C
Options :
6009641077. 1
6009641078. 2
6009641079. 3
6009641080. 4

Question Number : 120 Question Id : 600964270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

0d. 2. T &1 ¥ Uil o feru e e g1 67

L53°C
2.58°C
3.63°C

4.68 °C

Options :
6009641077. 1
6009641078. 2

Page - 176
176/223



9/18/2020
6009641079. 3
6009641080. 4

Question Number : 121 Question Id : 600964271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

How much is the lactose content in sheep milk?

1.33%
2.43%
3.53%
4.6.3 %

Options :

6009641081. 1
6009641082. 2
6009641083. 3
6009641084. 4

Question Number : 121 Question Id : 600964271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WS B gy ¥ faeial ! 7Rl foert gl 7

1.33%
2.43%
3.53 %
4.6.3%
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Options :
6009641081. 1
6009641082. 2
6009641083. 3
6009641084. 4

Question Number : 122 Question Id : 600964272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one is a soil-borne acute infection and highly fatal bacterial disease of animals?

1. Foot and mouth disease

2. Rinder pest
3. Martitis

4. Black quarter
Options :
6009641085. 1
6009641086. 2
6009641087. 3
6009641088. 4

Question Number : 122 Question Id : 600964272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009641085. 1
6009641086. 2
6009641087. 3
6009641088. 4

Question Number : 123 Question Id : 600964273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

Listl | Listll
A Pig |l Beef
B. Cattle |II. Chevon
C. Sheep | IIl. Pork
D. Goat | IV. Mutton

Choose the correct answer from the options given below:

1. A=l B-ll, G-I, DAV

2. A-lll, B-I, C-IV, D-l

3. A, B-ll, G-I, DAV

4. A-ll, B~I, C-IV, Dl
Options :

6009641089. 1
6009641090. 2
6009641091. 3
6009641092. 4

Question Number : 123 Question Id : 600964273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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C.98 Il Tich

D. ¥l V. Hed

1. A+, B, CHIl, D-IV

2. A-lll; B-lI, C-IV, D

3. A-l, B-lll, C-I; DIV

4. A-Ill, B, C-IV, D-lI
Options :

6009641089. 1
6009641090. 2
6009641091. 3
6009641092. 4

Question Number : 124 Question Id : 600964274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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How long can frozen semen be stored?

1.5 years

2. 10 years

3. 20 years

4. Indefinite period

Options :

6009641093. 1
6009641094. 2
6009641095. 3
6009641096. 4

Question Number : 124 Question Id : 600964274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009641093. 1
6009641094. 2
6009641095. 3
6009641096. 4
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Question Number : 125 Question Id : 600964275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement | : There is virtually no wastage in utilization of frozen semen.
Statement Il : After the collection of required quantity of semen, the bull is not required.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is correct but Statement |l is false

4, Statement | is false but Statement Il is true
Options :
6009641097. 1
6009641098. 2
6009641099. 3
6009641100. 4

Question Number : 125 Question Id : 600964275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009641097. 1
6009641098. 2
6009641099. 3
6009641100. 4

Question Number : 126 Question Id : 600964276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which among the following is not a cash crop?

1. Groundnut
2. Cotton
3. Sugarcane

4. Tobacco
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Options :
6009641101. 1
6009641102. 2
6009641103. 3
6009641104. 4

Question Number : 126 Question Id : 600964276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o d @ - 7o vaa Tl &

1. Hul el
2, DUR
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4. dHld

Options :

6009641101. 1
6009641102. 2
6009641103. 3
6009641104. 4

Question Number : 127 Question Id : 600964277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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How many “three eye" sets are required for one hectare sugarcane planting?

1..35,000 - 40,000
2.25,000 - 30,000
3. 50,000 - 60,000
4.90,000 - 1,00,000

Options :

6009641105. 1
6009641106. 2
6009641107. 3
6009641108. 4

Question Number : 127 Question Id : 600964277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U G H 90 B 1Y il BIciep] a1t Tl o fobed chgl I HTazade Bidl 7

1..35,000 - 40,000
2. 25,000 - 30,000
3. 50,000 - 60,000
4.90,000-1,00,000

Options :

6009641105. 1
6009641106. 2
6009641107. 3
6009641108. 4
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Question Number : 128 Question Id : 600964278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the following statements about soil productivity :

A. Soil productivity is used to indicate crop yields.

B.  Soil productivity depends upon fertility and location.

C.  Soil productivity is the function of soil fertility, management and climate.
D.  Soil productivity is not the inherent property of the soil.

E.  All productive soils are not fertile.

Choose the correct answer from the options given below:

1.A, B CandD

2ACDandE
3.B,C DandE
4 A B CandE

Options :

6009641109. 1
6009641110. 2
6009641111. 3
6009641112. 4

Question Number : 128 Question Id : 600964278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

6009641109. 1
6009641110. 2
6009641111. 3
6009641112. 4

Question Number : 129 Question Id : 600964279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

Which nutrient is required for activity of urease enzyme?

1.Zn
2.Ni
3.P
4.N

Options :

6009641113. 1
6009641114. 2
6009641115. 3
6009641116. 4

Question Number : 129 Question Id : 600964279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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I
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Options :

6009641113. 1
6009641114. 2
6009641115. 3
6009641116. 4
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Question Number : 130 Question Id : 600964280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement | : Alkaline soils content EC - > 4 ds/m; ESP - < 15;and pH - 8.5to 10
Statement Il : Saline soils content EC = > 4 ds/m; ESP = < 15; and pH = < 85

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is correct but Statement Il is false
4. Statement | is false but Statement |l is true

Options :

6009641117. 1
6009641118. 2
6009641119. 3
6009641120. 4

Question Number : 130 Question Id : 600964280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Page - 190
190/223



9/18/2020
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Options :

6009641117. 1
6009641118. 2
6009641119. 3
6009641120. 4

Question Number : 131 Question Id : 600964281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is the water requirement of wheat?

1.450 - 650 mm
2.700 - 1300 mm
3. 900 - 2500 mm
4.1500 - 2500 mm

Options :

6009641121. 1
6009641122. 2
6009641123. 3
6009641124. 4

Question Number : 131 Question Id : 600964281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g & B8y H o0 B A ol gl 7

1,450 - 650 it
2.700 - 1300 ot
3,900 - 2500 il
4. 1500 - 2500

Options :

6009641121. 1
6009641122. 2
6009641123. 3
6009641124. 4
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Question Number : 132 Question Id : 600964282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the statements related to the benefits of drainage :

A.  Drainage enhances aeration in the root zone.

B.  Drainage permits roots to grow deeper.

C.  Drainage increases the accumulation of salts in the root zone.
D.  Drainage facilitates easy field operation.

E.  Drainage reduces crop growth.

Choose the correct answer from the options given below:

1.A BandC

2.8,C.Dand E
3.A, BandD
4 A B CandE

Options :

6009641125. 1
6009641126. 2
6009641127. 3
6009641128. 4

Question Number : 132 Question Id : 600964282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

6009641125. 1
6009641126. 2
6009641127. 3
6009641128. 4

Question Number : 133 Question Id : 600964283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

Which one is the example of Biennial weed species?

1. Setaria glauca

2. Phyllanthus fraternus

3. Cichorum intybus

4. Phalaris minor
Options :
6009641129. 1
6009641130. 2

6009641131. 3
6009641132. 4

Question Number : 133 Question Id : 600964283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

feadfa RUqaR il P SeeRu -1 87
1. G e
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3, Rl aq sqersey
4, el Hig e
Options :
6009641129. 1
6009641130. 2

6009641131. 3
6009641132. 4
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Question Number : 134 Question Id : 600964284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
How much atrazine 50 WP is required for spraying in one hectare at the rate of 1.5 kg a.i. per
hectare?

1.1.5kg
2.30kg
3.25kg

4.35kg

Options :

6009641133. 1
6009641134. 2
6009641135. 3
6009641136. 4

Question Number : 134 Question Id : 600964284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
6009641133. 1
6009641134. 2
6009641135. 3
6009641136. 4

Question Number : 135 Question Id : 600964285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement | : Ginning is associated with cotton crop.
Statement Il : Jute is known as king of fibre crops.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement Il is false

4, Statement | is false but Statement Il is true
Options :
6009641137 1
6009641138. 2
6009641139. 3
6009641140. 4

Question Number : 135 Question Id : 600964285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

6009641137. 1
6009641138. 2
6009641139. 3
6009641140. 4

Question Number : 136 Question Id : 600964286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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What is the weight of 1000 grains of rice?

1.10-15¢
2.20-30g
3.15-20g

4.35-40¢

Options :

6009641141. 1
6009641142. 2
6009641143. 3
6009641144. 4

Question Number : 136 Question Id : 600964286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

S & 1000 ST T Go fobe Tl Bl 67

1.10-159H
2.20-30 9
3. 15-20 Y4

4. 35-40 T
Options :
6009641141. 1
6009641142. 2
6009641143. 3
6009641144. 4

Question Number : 137 Question Id : 600964287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes IsPage _ 199
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il
A Cotton  |l.Cob
B. Sugarcane | II. Bolls
C. Mustard | lll. Arrow
D.Maize  |IV.Siliqua

Choose the correct answer from the options given below:

1. A-ll, B~lll, C-IV, DA

2. A-ll, B-I, C, D-IV

3. A-l, B-Il, C-lll, D=1V

4. A-ll, B-I, C-V, DI
Options :

6009641145. 1
6009641146. 2
6009641147. 3
6009641148. 4

Question Number : 137 Question Id : 600964287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. Al B-lil, C-IV, D-

2. A-llI, B-II, C-I, D-IV

3. A-l, B~Il, C-lll, D=V

4. A-ll, B-I, C-IV, D-lli
Options :

6009641145. 1
6009641146. 2
6009641147. 3
6009641148. 4

Question Number : 138 Question Id : 600964288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Pearl millet |. Pennisetum glaucum L.
B. Finger millet | II. Eleusine coracana L.
C. Little millet Il Echinochloa frumentacea L.
D. Barnyard millet | IV. Panicum sumatrense

Choose the correct answer from the options given below:

1. A<, B-lll, G-IV, D-ll

2. A=, B-lII, C-1I, D-IV

3. A-l, B-Il, C-IV, DIl

4. A-1, B-II, CHII, D-IV
Options :

6009641149. 1
6009641150. 2
6009641151. 3
6009641152. 4

Question Number : 138 Question Id : 600964288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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el - PGl -11 8 GAferd Pifoit
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1. A<, B~III, C-IV, DAl

2. A-l, B-lIl, C-II, D-IV

3. A-l, B-II, C-IV, DIl

4. A-l, B-lI, CHII, D-IV
Options :

6009641149. 1
6009641150. 2
6009641151. 3
6009641152. 4

Question Number : 139 Question Id : 600964289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Goma Aishwarya is a variety of which crop?

1. Ber

2. Guava

3. Aonla

4. Custard Apple

Options :

6009641153. 1
6009641154. 2
6009641155. 3
6009641156. 4

Question Number : 139 Question Id : 600964289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T Ot o e 1 e €7

1L W

2. }{]]Exa
3, [qd]
4. TR

Options :

6009641153. 1
6009641154. 2
6009641155. 3
6009641156. 4
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Question Number : 140 Question Id : 600964290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Read the following statements ;

A Arka Sujat and Pusa Nutan are the varieties of Ridge Gourd.

B.  Baby and Harithasree are the varieties of Round Gourd.

C.  Pusa Chandrima and Pusa Sweti are the varieties of Radish.

D.  Pusa Sandesh and Pusa Samriddhi are the varities of Bottle Gourd.
Choose the correct answer from the options given below:

1.AandB
2. AandC

3 Aand D
4 BandC

Options :

6009641157. 1
6009641158. 2
6009641159. 3
6009641160. 4

Question Number : 140 Question Id : 600964290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

6009641157. 1
6009641158. 2
6009641159. 3
6009641160. 4

Question Number : 141 Question Id : 600964291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Guava |. Rutaceae
B. Bael |l. Sapindaceae

C. Cashewnut |IIl. Myrtaceae

D. Litchi IV. Anacardeaceae

Choose the correct answer from the options given below:;

1. A-Ill, B-Il, CIV, D

2. A1l B, C-IV, D-lI

3. A-IV, B-Il, C-, DIl

4. A-IT, B, G-IV, Dl
Options :

6009641161. 1
6009641162. 2
6009641163. 3
6009641164. 4

Question Number : 141 Question Id : 600964291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A-Ill, B-Il, C-IV, D-l

2. A-ll, B-I, C-IV, D-I

3. A-IV, B-ll, C-1, DIl

4. A-lll, B-1, C-IV, Dl
Options :

6009641161. 1
6009641162. 2
6009641163. 3
6009641164. 4

Question Number : 142 Question Id : 600964292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Karonda | |. Seed
B.Mango | Il. Mound layering

C.Guava |lll. Inarching
V. Hardwood
D. Rose _
cutting

Choose the correct answer from the options given below:

1. A, B-lI, CHIl, D-IV

2. A-IV, B, C-lI, DI

3. A-l, B-Ill, C-lI, D=V

4. A-IV, B, C-Il, DI
Options :

6009641165. 1
6009641166. 2
6009641167. 3
6009641168. 4

Question Number : 142 Question Id : 600964292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Tl - o -
A BRI K [Ci
B. 31 1, &8 38 (Argve it
C. 3G (EGIEY
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i U fqdedt A 9 g8t IR AT
1. A, B, €Il D-IV
2. A-IV, B, C-1I, D-I
3, A, Bll, C-lI, D-IV
4. AV, B, C-IIl, D-I
Options :

6009641165. 1
6009641166. 2
6009641167. 3
6009641168. 4

Question Number : 143 Question Id : 600964293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Tomato : Sm,nh
America

B. Watermelon | II. Afganistan
C. Brinjal I, Africa
D. Carrot V. India

Choose the correct answer from the options given below:

1. A-l, B~II, C-IV, DIl

2. A1, B-lI, CHIE, D-IV

3. A, B-lIl, C-IV, Dl

4. A-IV, B-II, C-1, D
Options :

6009641169. 1
6009641170. 2
6009641171. 3
6009641172. 4

Question Number : 143 Question Id : 600964293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A, B-I, C-IV, DI

2. A, B-II, CHIl, D-IV

3. A-l, B-Ill, C-IV, DIl

4. A-IV, B-III, C-, Dl
Options :

6009641169. 1
6009641170. 2
6009641171. 3
6009641172. 4

Question Number : 144 Question Id : 600964294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which among the following is a dwarfing root stock of apple?

1.M-9

2 M-13

3. M-4

4, MM-111
Options :
6009641173. 1
6009641174. 2

6009641175. 3
6009641176. 4

Question Number : 144 Question Id : 600964294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

frfafiad & Q9 &1 a1 g HH-a1 67

1.TH-9

2. UH-13

3. UH-4

4. THUH-111
Options :
6009641173. 1
6009641174. 2

6009641175. 3
6009641176. 4
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Question Number : 145 Question Id : 600964295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List I with List Il

List | List I

A. Teak |. Delonix regla

B. Gulmohar | Il. Bahunia verigeta

C. Marigold | IIl. Tectoma grandis

D. Kachnar | V. Tegetus erecta

Choose the correct answer from the options given below:

1. A, B-lIl, C-1I, D-IV
2. AL, B-I, G-IV, DAl
3. A-IV, B-Ill, C-I, Dl
4. A-lll, BV, C-II, D-

Options :

6009641177. 1
6009641178. 2
6009641179. 3
6009641180. 4

Question Number : 145 Question Id : 600964295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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C. el

I, 272 Ffvsa

D. @4

\V, 2712 30T

1. A, B-Ill, CHI, D=1V
2. AT, B-I, C-IV, DAl
3. A-IV, B-ll, C-I, D-l
4. A-lll, BV, C-I, D

Options :

6009641177. 1
6009641178. 2
6009641179. 3
6009641180. 4

Question Number : 146 Question Id : 600964296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
A. Onion . Lycopene
i I. Momodocin
Gourd
C. Radish lIl. Isothiocynate
D. Tomato V. Allyl propyl disulphide

Choose the correct answer from the options given below:

1. A, B-II, C-IlI, D-IV
2. A-lIT, B-I, C-II, DIV
3. A-IV, B-ll, C-II, D-|
4. A-ll, BV, C-l, DI

Options :

6009641181. 1
6009641182. 2
6009641183. 3
6009641184. 4

Question Number : 146 Question Id : 600964296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. A, B-ll, CHIl, D1V

2. A-lll, B, CHI, D-IV

3. A-IV, B-Il, C-1II, DI

4. A-1I, B-IV, C-, DI
Options :

6009641181. 1
6009641182. 2
6009641183. 3
6009641184. 4

Question Number : 147 Question Id : 600964297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following is a Rose variety?

1. Bhagwa

2. Black Magic
3. Ruby

4. Red Lady

Options :

6009641185. 1
6009641186. 2
6009641187. 3
6009641188. 4

Question Number : 147 Question Id : 600964297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

5 H 9 o ae 9 fow 87
]

1, Tl
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433 Wl

Options :

6009641185. 1
6009641186. 2
6009641187. 3
6009641188. 4
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Question Number : 148 Question Id : 600964298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Early Bedana is the variety of which fruit crop?

1. Lemon
2. Litchi
3. Karonda

4, Custard Apple

Options :

6009641189. 1
6009641190. 2
6009641191. 3
6009641192. 4

Question Number : 148 Question Id : 600964298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

31l ST fob o 1 foh €7

E]

2. T (i)

3, dl

4, Hes TUT (SRI)
Options :

6009641189. 1

6009641190. 2 Page - 219
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6009641191. 3
6009641192. 4

Question Number : 149 Question Id : 600964299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Read the following steps of vegetable canning :

A, Grading
B.  Blanching
C.  Cutting
D. Peeling
E.  Cooling

Choose the correct answer from the options given below

1.AB,CDE
2.ADCBE
3.ACDBE
4.ADBCE

Options :
6009641193. 1
6009641194. 2

6009641195. 3
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6009641196. 4

Question Number : 149 Question Id : 600964299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ool H fSsaraa] o fobarafl 1 7¢
A iR
B, aflfwf
C. Bl
D. @

E. Wi
ATl fou 0 el o 9 w6 TR -

1.A,B,C, DUTE
2.ADCBUIE
3.ACDBUGE
4, A DB CUJE

Options :

6009641193. 1
6009641194. 2
6009641195. 3
6009641196. 4
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Question Number : 150 Question Id : 600964300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List I

List | List I

|. Crook
neck

A. Tomato

B. Cauliflower | II. Zippering

C. Beetroot | lIl. Browning |

D. Cucumber | IV. Forking

Choose the correct answer from the options given below:

1. A-l, B-IV, CII, D-

2. A-ll, B-I, C-IV, DIl

3. A-IV, B-Il, C-I, DIl

4. A-ll, B-IIl, C-IV, D
Options :

6009641197. 1
6009641198. 2
6009641199. 3
6009641200. 4

Question Number : 150 Question Id : 600964300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

WA AT RE AR
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A, TR . P Ad
B. el 1, forafen
C. TP Il ST
D. &3 IV, BT

rd feu o faedi # € w8 IR AU

1. A-ll, BV, C-Il, D

2. A-l, B-I, C-IV, DAl

3, A-IV, B, C, DI

4, Al, B-INl, C-V, D-

Options :

6009641197. 1
6009641198. 2
6009641199. 3
6009641200. 4
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